Opérations Mixtes (I)

8414 =

210+ 14 =

84 =14 =

98 14 =

84 =14 =

210+ 14 =

14x6=

14x 16 =

Ox 14 =

98 +-14 =

Effectuez chaque opération.

252+ 14 = 14 x 12 =
11 x14 = 14 x3 =
266+ 14 = 16 x 14 =
11 x14 = 1 x14=
266+ 14 = 17 x 14 =
28014 = 196 - 14 =
182+ 14 = 28+ 14 =
17 %14 = 14 x 14 =
8 x 14 = 126 =14 =
5614 = 18214 =

182+ 14 =

182+ 14 =

168 +14 =

252+ 14 =

14x6=

14 x 8 =

22414 =

19 x 14 =

14 x2 =

140 =14 =
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Opérations Mixtes Solutions (I)

84+ 14=6

21014 =15

84+14=6

98 +-14=7

84+14=6

21014 =15

14 x6 =284

14 x 16 =224

9x14 =126

98 +14=7

Effectuez chaque opération.

252+ 14 =18

11 x14 =154

26614 =19

11 x14 =154

26614 =19

28014 =20

18214 =13

17 x 14 =238

8x 14 =112

56 -14=4

14 x12 =168
14 x3 =42
16 x 14 =224
I x14=14
17 x 14 =238
196 + 14 =14
28+14=2
14 x 14 =196
126 -14 =9
18214 =13

18214 =13

18214 =13

168 +14 =12

252+14 =18

14 x6 =284

14 x8=112

22414 =16

19 x 14 =266

14 x2 =128

14014 =10
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